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; 100kN/M%E#B 2% - -~ -[3mEEZS -~ - -| 100kN/ Mm% 2% - -~ [ 3mERBZS -~ -
zh st 1.00 | 0.00 ~ 158 23.37 | #FnLS | 000 ~ 158|271 14.51 zhst 1.00 | .00 ~ 5.00 23.37 | #hRS | 5.00 ~ 500 271 14.51
P 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/ Mm% 2% - -~ [ 3mERBZS -~
zh st 1.00 | 0.00 ~ 168 24.38 | #nS | 000 ~ 168 | 281 15.05 zhst 1.00 | 5.00 ~ 6.20 24.38 | #hS | 5.00 ~ 620 281 15.05
3 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/ Mm% 2% - -~ -[3mERBZS -~
zh st 1.00 | 0.00 ~ 307 39.37 | NS | 000 ~ 307|243 13.03 zhst 1.00 | 5.00 ~ 6.00 39.37 | TR | 500 ~ 6.00 | 243 13.03
4 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/ Mm% 2% - -~ -[3mERBZS -~
zh st 1.00 | 0.00 ~ 367 46.27 | NS | 000 ~ 367 | 226 12.11 zhst 1.00 | 5.00 ~ 5.70 46.27 | #hs | 500 ~ 570 | 2.26 12.11
5 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/Mi%E# 2% - -~ -[3mERBZS -~
zh st 1.00 | 000 ~ 372 46.81 | #n4s | 000 ~ 372 220 11.76 zhst 1.00 | 6.00 ~ 5.30 46.81 | =hs | 500 ~ 530 | 2.20 11.76
5 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/Mi%E#8 2% - -~ -[3mERBZS -~
zh st 1.00 | 000 ~ 435 54.29 | NS | 000 ~ 435\ 2.06 11.00 zhst 1.00 | 6.00 ~ 5.40 54.29 | TnS | 500 ~ 540 | 206 11.00
- 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/Mi%# 2% - -~ -[3mERBZS -~
zh st 1.00 | 0.00 ~ 356 44.98 | NS | 000 ~ 356 | 2.56 12.62 zhst 1.00 | 5.00 ~ 6.30 44.98 | =hds | 500 ~ 6.30| 2.36 12.62
3 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/ Mm% 2% - -~ -[3mERBZS -~
zh st 1.00 | 000 ~ 473 59.01 | #n4 | 000 ~ 473 2.00 10.73 zhst 1.00 | 5.00 ~ 5.70 59.01 | Thls | 500 ~ 5.70 | 200 10.73
9 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/Mi%# 2% - -~ -[3mERBZS -~
zh st 1.00 1000 ~ 528 65.82 | NS | 000 ~ 528 1.74 9.32 zhst 1.00 | 5.00 ~ 5.70 6582 | =hds | 500 ~ 570 1.74 9.32
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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